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1. Write the number names:
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[image: image3.jpg]111, Fill in the blanks :

A has four equal sides.

A has no side.

Arectangle has sides.

A has three sides.

There are months in a year.
The face of the clock is called a .
The longer hand of the clock is called

A tells us the time.

The shorter hand of the clock is called

10. There are seconds in a minute.

. Name the months of the year.

Page 3of |





[image: image4.jpg]v

15
17

8
11
12

9

T

Fill in the blanks:

-1

Re

3
1
0

5

6





[image: image5.jpg]Subtract:
3 6 1 6 2. 5 8 0
2 5 -3 415 4 0
8 3 1 3 6 7 1 2
20 « 2 3 4 = 7
9 8 1 9 6 2 5 0
-5 = 6 ; -0

VL

Fill in the boxes:

4x3= 6x4= | | 4x10= 4x9=
6x0= 7x7= | 7x9= 5x3=
3x5= 4x5= 3xig = 2x3=

| 2x7= 3x0= 5x9= 6x8= {

| 6x3= 6x9= 2x2= 2x9= |
1><8:W Tx4= B 7x10= 5x5= )
5x2= 3x6= 3x7= 1x9= B
7 x6= 5x1= 4x8= 7x3= ‘
Axd= 2x8= 6x6= 5x10= |

[ 2x10= 6x2= 6x1= 7x6= |
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X_ Find the total value of the given coins
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[image: image9.jpg][WTWrite in decreasing order:

1. 84 95 43 62
Ans.

2 23 68 45 99
Ans. = .

3 9 15 51 6
Ans.

4 30 10 80 60
Ans. —

5 17 71 75 57
Ans.

6. 18 81 80 8

Ans.

X
Choose the correct answer:

1. The sign of subtraction is
(hamy %)
2. The numeral for four hundred one

(410,401,411)

3. The value of the coin is

(1 Rupee, 1 paisa, 10 rupee )

14
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(7,0,70)

xStory problem:

1. Nisha had 8 apples. She gave 3 apples to Beena .

How many apples are left with Nisha ?

Ans.

2. Meena had 16 sweets. She gave 4 sweets to Amit.

How many sweets are left with Meena ?

Ans.

3.There €9 birds sitting on a tree. 5 birds flew away.

How many birds are left on the tree?

Ans.
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